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Worked Solutions
Question 1

The credit rating agency Fitch has announced changes to its criteria for judging the equity credit to be awarded for capital securities.  Fitch have stated that for a security to be considered for equity credit it must have at least one of two important features.
Which of the following possible pairings show the two qualifying features for Fitch’s new equity credit?
(a) loss absorbing features and the absence of default covenants

(b) mandatory conversion to equity and loss absorbing features

(c) full tax deductibility and mandatory conversion to equity

(d) absence of default covenants and full tax deductibility

(e) don’t know

Answer

The right answer is (b) mandatory conversion to equity and loss absorbing features.
In this context “loss absorbing features” includes such elements as the potential for deferral or passing of cash payments.

Of course, tax deductibility – full or otherwise – is irrelevant for determining risk.

The Treasurer November 2006 Technical Update 

Fitch’s report: Equity Credit for Hybrids and Other Capital Securities is available at http://www.fitchratings.com/corporate/reports/report_frame.cfm?rpt_id=291782
Question 2

As part of the options dating scandal that has emerged, largely in the US, a new terminology has been born.  Which of the following possible answers contain only “real” terms relating to option dating?

(a) spring loading and trampolining
(b) trampolining and pay packing
(c) pay packing and bullet dodging 

(d) bullet dodging and spring loading

(e) don’t know

Answer

The right answer is (d) bullet dodging and spring loading

Both of these terms appear in the FSA’s Marketwatch newsletter No 17 which gives an insight into the authority’s thinking.  The terms refer to shifting the start of the option period to make the option more attractive to the holder.
The Treasurer November 2006 Technical Update

www.fsa.gov.uk/pubs/newsletters/mw_newsletter17.pdf  

Question 3

In January 2007 Marks and Spencer announced a scheme to cut the deficit of its pension scheme by utilising some of its property portfolio.
Which of the following reflects most accurately what M&S announced?

(a) M&S retains ownership of the properties while the pension scheme has rights over the income

(b) M&S has transferred some properties to the pension scheme which, together with increased contributions, will eliminate the deficit over a number of years.

(c) M&S has transferred properties to the current market value of the deficit to the pension scheme

(d) M&S has pledged extra contributions of £50m per year for 15 years to the pensions scheme, offering its property portfolio as security.

(e) don’t know
Answer

The right answer is (a)  M&S retains ownership of the properties while the pension scheme has rights over the income.

A trust has been established with the pension scheme as a partner.  The structure of the partnership leaves the ownership of the properties with M&S while giving the pensions scheme the rights to income.  Together with increased contributions this is expected to eliminate the deficit over a period of 15 years.
http://www.ft.com    M&S Moves to Plug Pension Gap 24th January 2007

Question 4

Moody’s, the credit rating agency, has proposed revising its ‘probability of default’ (PD) and ‘loss given default’ (LGD) methodology, for speculative grade issues.  Which of the following best describes the new approach to be used?
(a) long term ratings combine LGD and PD on the existing alpha-numeric scale

(b) PD ratings will be assigned to issuers and LGDs will be assigned to debt issues

(c) PD ratings will be assigned to debt issues and LGDs will be assigned to issuers

(d) PD and LGD ratings will be applied to issuers and the conventional rating will apply to issues

(e) don’t know

Answer

The right answer is (b)  PD ratings will be assigned to issuers and LGDs will be assigned to debt issues.

The Treasurer, November 2006,page 28,  Moving up a Notch

Question 5

The Capital Requirements Directive addresses the interest rate risk inherent in a bank’s ‘banking book’.  The Directive requires that the banking book be able to withstand a ‘standard shock’ without undue strain.  Undue strain is defined as causing the institution’s economic value to decline by more than 20% of its own funds.

Which of the following reflects the proposal for the ‘standard shock’?

(a) the 1st and 99th percentile of observed daily interest rate changes over a one year period
(b) the 5th and 95th percentile of observed daily interest rate changes over a one year period

(c) the 1st and 99th percentile of observed daily interest rate changes over a five year period

(d) the 5th and 95th percentile of observed daily interest rate changes over a five year period

(e) don’t know

Answer

The right answer is (c) the 1st and 99th percentile of observed daily interest rate changes over a five year period.

Committee of European Banking Supervisors (CEBS): Technical aspects of the management of interest rate risk arising from non-trading activities under the supervisory review process, http://www.c-ebs.org/documents/guidelines_IRRBB_000.pdf
The Treasurer December 2006, Technical Update.

Question 6

Real Estate Investment Trusts (REITS) have been introduced in the UK from 1st January 2007. Within 6 months of the end of it’s accounting period a UK REIT must distribute 95% of the profits of the tax exempt business.
Which of the following most accurately reflects the criteria for qualification as a REIT and the benefits of qualification?

(a) 50% of income must be from property rentals, an entry charge of 1% of property value and no income or capital gains tax is payable on qualifying profits.

(b) 50% of income must be from property rentals, an entry charge of 2% of property value and no capital gains tax is payable on qualifying profits.

(c) 75% of income must be from property rentals, an entry charge of 1% of property value and no capital gains tax is payable on qualifying profits.

(d) 75% of income must be from property rentals, an entry charge of 2% of property value and no income or capital gains tax is payable on qualifying profits.

(e) don’t know.

Answer

The right answer is (d)   75% of income must be from property rentals, an entry charge of 2% of property value and no income or capital gains tax is payable on qualifying profits.

The Treasurer, December 2006, page 18,  The REIT Choice by Stephen Leung, Corporate Finance Director at Land Securities.
